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Direction (38-40): In each of the following questions, three statements are given. For each question, 

three starters are also given which can be used to integrate all three statements into a meaningful 

and coherent composition. Select a starter or starters from the following options that can be used 

to combine the given statements in a grammatically accurate and contextually meaningful manner. 

 

Q38. 

(A) training future leaders of India's public transportation system, 

(B) Indian Railways officers will need to work together 

(C) because they will be serving in the organization for decades 

(i) however 

(ii) apart from  

(iii) anyhow 

(a) Only (ii) 

(b) Only (i) and (iii) 

(c) All of these 

(d) Only (i) and (ii) 

(e) Only (iii) 

 

Q39. 

(A) merging services to adapt training for newly hired officers,  

(B) early and mid-career training programs are also required 

(C) since the focus should be on increasing the ability to manage  

(i) in addition to 

(ii) nevertheless 

(iii) besides 

(a) Only (ii) 

(b) Only (i) and (iii) 

(c) Only (iii) 

(d) Only (i) and (ii) 

(e) All of these 

 

Q40. 

(A) in a system based on social insurance, public service is crucial because, 

(B) in the absence of public health institutions, patients are at risk of racing to 

(C) expensive hospitals every other day, wasting resources and increasing costs 

(i) due to 

(ii) even  

(iii) instead 

(a) Only (iii) 

(b) Only (i) and (iii) 

(c) All of these 

(d) Only (i) and (ii) 

(e) Only (ii) 
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Q50. With restaurants affected due to the COVID-19 crisis, a restaurant in Pune has come up with a unique 
scheme to attract customers with 'Win a Bullet bike' contest for those who finish a massive Bullet Thali 
within an hour. 
Bullet Thali is a massive non-veg thali which consists of around 12 types of dishes made with 4 kgs of 
mutton and fried fish. The owner is happy that the response has been great and people are visiting to try 
the thali and participating in this unique contest. As per owner, the hotel sells around 65 Thali daily. 
Which of the following can be inferred from the above statement? 
(I) Bullet bike has a huge craze and demand among people in Pune. 
(II) Promotion is only source to make restaurant popular and gain income. 
(III) Non-vegetarians are more in count as compared to Vegetarians in Pune. 
(a) Only II 
(b) Only I and III 
(c) Only I 
(d) Only III 
(e) Only II and III 
 
Direction (51-55): Study the given information and answer the related questions: 
 
Nine persons K, L, M, N, O, P, Q, R and T visit Balaji temple in three months i.e., May, August and November 
on 5th, 7th and 20th of the same year. They go by different vehicles. All the information is not necessarily in 
the same order as given.  
R goes by airplane on even date. Four persons visit between R and the one goes by bus. P visits two person 
before the one who goes by bus. The number of persons visit after P is two more than the number of 
persons visit before L.T goes by train just after the one goes by car and both of them visits in different 
months. Three persons visit between T and M. M and the one who goes by chopper do not visit in the same 
month. The person who goes by taxi visits before K who visits before the one who goes by Chopper and 
they all three visits on the same date. N goes by Bike. O does not go by chopper and bike but visits after the 
one who goes by boat. One of them goes by Jeep. 
 
Q51. Which among the following combination is correct? 
(a) Q- chopper 
(b) O-bus 
(c) K-Jeep 
(d) M-boat 
(e) All are correct 
 
Q52. How many persons visits between Q and the one who goes by bike? 
(a) None  
(b) One 
(c) Two 
(d) Three 
(e) More than three 
 
Q53. Who among the following visits on 20th August? 
(a) T 
(b) L 
(c) P 
(d) R 
(e) None of these 
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Q82. How many numbers are immediately followed by symbols in step-II? 
(a) One 
(b) Two  
(c) Four 
(d) Five 
(e) None of these 
 
Q83. Which of the following letter is 6th to the right of 3rd symbol from the left end in step III? 
(a) L 
(b) U 
(c) T 
(d) M 
(e) None of these 
 
Q84. What is sum of numbers which are 6th from the right end in step I and 5th from the left end in step III? 
3+3=6 
(a) 11 
(b) 12 
(c) 6 
(d) 13 
(e) None of these 
 
Q85. Owner of Restaurant A has decided to decrease the price of Full Thali to attract the customers while 
the Owner of Restaurant B will keep the price unchanged. Both the owner has same motive to increase the 
customer base and increase their income. 
Which of the following can be hypothesized from the above statement? 
(I) All the Customer of Restaurant B will move to Restaurant A to avail the benefit of price slashed. 
(II) Some of the customer will think quality of Restaurant A is not as good as Restaurant B. 
(III) Infrastructure and kitchen of Restaurant B is more modern and spacious. 
(a) Only I and II 
(b) Only III 
(c) Only II and III 
(d) Only I and III 
(e) None of them 
 
Directions (86-90): Study the following information carefully and answer the given questions.  
 
Eight Cricketers- A, B, C, D, E, F, G and H sit around a circular table facing the center in a dinner party but 
not necessarily in the same order. Each one of them is from a different country. 
F sits second to right of the cricketer who is from South Africa. B is not from West Indies. Only one person 
sits between C and the cricketer who is from Sri Lanka. H sits third to left of the cricketer who is from New 
Zealand. The cricketer who is from Australia sits second to left of the cricketer who is from Zimbabwe. The 
cricketer who is from India is an immediate neighbor of the cricketer who is from South Africa. Two 
cricketers sit between the cricketer who is from India and B. C and E are immediate neighbors of each 
other. Neither C nor E is an immediate neighbor of B and the cricketer who is from South Africa. The 
cricketer who is from England sits second to right of D. D is neither the cricketer of South Africa nor India. 
G and the cricketer who is from West Indies are immediate neighbors of each other.  
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Q118. A man spends 25% of his monthly salary on Rent and 32% on Groceries. He invests remaining salary 

in the ratio of 11: 5 in Mutual Funds and Fixed Deposits. If difference between his yearly mutual funds and 

fixed deposit amount is Rs.77400, then find the amount he spends each month on Groceries. 

(a) Rs.12800 

(b) Rs.9600 

(c) Rs.6400 

(d) Rs.7200 

(e) Rs.11200 

 

Q119. A bag has balls of three colors. It has 8 red balls, x green balls and y blue balls. If probability of picking 

one green ball and that of picking one blue ball out of bag is equal, then find the number of blue balls. 

Probability of picking one red ball is 0.5. 

(a) 2 

(b) 4 

(c) 5 

(d) 6 

(e) 3 

 

Q120. A man invests Rs. X in a scheme at 12% rate of interest for 8 years. After 8 years, he reinvests the 

amount received at same rate of interest for same time duration. If interest received from reinvestment is 

Rs.5730.4 more than Rs. X. Find the value of X. 

(a) 6500 

(b) 5400 

(c) 7800 

(d) 5900 

(e) None of these 

 

Q121. A person took a loan of Rs.1500 from an investor at 20% per annum on compound interest for 2 

years. But he paid only 80% of amount after 2 years. And investor put some penalty on remaining amount. 

He paid Rs.520 including penalty amount after some time. Find the value of penalty amount. 

(a) Rs.104 

(b) Rs.76 

(c) Rs.58 

(d) Rs.92 

(e) Rs.88 

 

Q122. Pipe A can fill half of the tank in 6 hours 2 min. Pipe B can fill the same tank completely in 18 hours 

5 min while pipe C can empty the fully filled tank in 9 hours. If all the pipes are opened simultaneously then 

in how much time (approx.) 80% of tank will be filled. 

(a) 29 hours 

(b) 24 hours 

(c) 35 hours 

(d) 33 hours 

(e) 27 hours 
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